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Answers for Lesson 4-3, pp. 215-218 Exercises

1. APOR = AVXW 2. NACB = ANEFD
3. RS 4. /N and L0
5. a. Reflexive

b. ASA
6. LBAC = LDAC (given)

AC 1 BD (given)

AC = AC (Reflex. Prop. =)
£LDCA = LBCA (rt. 4 are =)
AABC = AADC (ASA)

7. OR = TS (given)
OR || ST (given)
ZTQOR = £QTS (Alt. Int. 4 Thm.)
QTR = £TQS (Alt. Int. 4 Thm.)
AQRT = ATSQ (AAS)

8. a. LUWV
b. UW
c. right
d. Reflexive

9. Itis given that ZUWT and LUWYV are right 4 and that
LT =LV.LUWT = LUWYV since all right 4 are
congruent. UW = UW by the Reflexive Property of
Congruence, so AUWT = AUWV by AAS.
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Answers for Lesson 4-3, pp. 215-218 Exercises (cont.)

10.

11.

12.

13.
15.
17.

18.
19.
20.

Vert. 4 are =.

o 9

Given

TQ = QR
AAS

LV = LY (given)
W Z bisects ZVWY (given)

WZ = WZ (Refl. Prop. =)
AVWZ = AYWZ (AAS)
PO 1 OS,RS 1L OS (given)

= L b= a2 n

T is the midpoint of PR (given)

PT = RT (def. of midpt.)

LPTQ = £LRTS (vert. 4 =)

APQT = ARST (AAS)

APMO = ANMO;ASA  14. AUTS = ARST; AAS
AZVY = AWVY; AAS 16. D

Yes;if 2 4 of a A are = to 2 4 of another A, then the 3rd 4
are =. So, an AAS proof can be rewritten as an ASA proof.

LFDE = LGHI; LDFE = LHGI
No; you also need one pair of corres. sides =.

AMON = AQOP by AAS, since ZMON and £LQOP are =
vert. 4.
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Answers for Lesson 4-3, pp. 215-218 Exercises (cont.)

21.

22,

23.

24,

25.

26.

27.

28.

AFGJ = AHJG by AAS, since £LFGJ = £ HJG because
when lines are ||, then alt. int. 4 are =, and GJ = GJ by the
Reflexive Prop. of =.

ANAEB = ABCD by ASA, since ZEAB = £ DBC because ||
lines have = corr. 4.

ABDH = AFDH by ASA since ZBDH = /FDH by def. of
Z bis.and DH = DH by the Reflexive Prop. of =.

AB || DC, AD || BC (Given), ZDAC = £ BCA (Alt. Int. /£
Thm.), ZACD = £ CAB (Alt. Int. 4 Thm.), AC = AC
(Reflexive Prop.),so AABC = ACDA by ASA.

Answers may vary. Sample: B

a. Check students’ work.
b. Answers may vary; most likely ASA.

ANAEB = ACED, ABEC = ADEA, AABC = ACDA,
ABAD = ADCB
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Answers for Lesson 4-3, pp. 215-218 Exercises (cont.)

29. AAEB = ACED, ABEC = ADEA, ANABC = ACDA,
ANABD = ADCA, ABAD = ADCB, AABD = ADCB,
ACBA = ADAB, ABCD = AADC

30. They are £ bisectors; ASA.
31. 32 32. U

30°
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